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Mohit.. 16 hours ago

Thank-you Sir for this Wonderful and Magical Class Session of today's..

And

My Answer for today's Homework is-
Option D==800m,

As,

1 m of model == 200 m of actual ship.
30,

dm==200x4==800m.

o &

Thank-you So Much, Sir Ji.. & .,

Show less
' G} Renly

RiTu PanDey 16 hours ago
Very important session sir

75 CI Repy

akanksha & hours ago

Thank u so muchh sr for this amazing session my answer for today homework is option b (800)....

'GP Renly

O, OSSR (G~ T Ta1 AT ) 5 hours ago

N
Answer no.D.800mtr

! 5P Reny

Surbhi Sinha 15 hours ago
Option ddddddd =800

! 5P Reny




TARGET MATHS- 25/25

Ques HW -: A model of a ship is made to a scale of 1: 200. If the length of the model is
4 m., the length of the ship is-
Teh STETST Rl HISE 1: 200 ok THHTT 9T IHTIT AT gl AT ATSH ohi TS 4 |, § a7 T8

RIS &

(A) 20 m. / HT.
(B) 80 m. / HI.
(C) 200 m. / HI.
(D) 800 m. / H.



TARGET MATHS- 25/25

Ques HW -: A model of a ship is made to a scale of 1: 200. If the length of the model is
4 m., the length of the ship is-
Teh STETST Rl HISE 1: 200 ok THHTT 9T IHTIT AT gl AT ATSH ohi TS 4 |, § a7 T8

RIS &

(A) 20 m. / HT.
(B) 80 m. / HI.
(C) 200 m. / HI.



TARGET MATHS- 25/25

Ques 1 -: A shopkeeper cheats to the extent of 20% while buying as well as selling, by

using false weights. His total gain is

Teh ohTER TEd TR it ST srerd W T, TTerd Siet sl ST @ik 20% Tk T areEt
3AT | IHHT HeA ATH B

(A) 50%
(B) 45%
(C) 34%
(D) 44%



TARGET MATHS- 25/25

Ques 1 -: A shopkeeper cheats to the extent of 20% while buying as well as selling, by

using false weights. His total gain is

Teh ohTER TEd TR it ST srerd W T, TTerd Siet sl ST @ik 20% Tk T areEt
3AT | IHHT HeA ATH B

(B) 45%
(C) 34%
(D) 44%



TARGET MATHS- 25/25

Ques 2 -: If 8 men can reap 80 hectares in 24 days, then how many hectares can 36

men reap in 30 days?

Tfe 8 ATHT 24 3T T 80 THIR T HIE Thd 8, AT 36 2ATIHT 30 27 7 foraw Toe”
T HIE Thd &2

INER
(B) 400
(C) 425
(D) 450



TARGET MATHS- 25/25

Ques 2 -: If 8 men can reap 80 hectares in 24 days, then how many hectares can 36
men reap in 30 days?

afe 8 SATEHT 24 T T 80 TFIX T H1E T &, AT 36 MgHt 30 foT 7 fohaw eFeer
WO HIE Hehd 82

INEE
(B) 400
(C) 425



TARGET MATHS- 25/25

Ques 3 -: In 10 years, A will be twice as old as B was 10 years ago. If A is now 9 years

older than B, the present age B is -

10 ST #, A T 3T B T 10 T U <hT STTT & FUTAT &1 A1@T §1 AFS 7T A, BH 9 I
TST 7 AT B 1 TR T FAT 82

(A) 32 years/ CL|
(B) 36 years/ a9
(C) 39 years/ CL|
(D) 40 years/ CL|
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Ques 3 -: In 10 years, A will be twice as old as B was 10 years ago. If A is now 9 years

older than B, the present age B is -

10 ST #, A T 3T B T 10 T U <hT STTT & FUTAT &1 A1@T §1 AFS 7T A, BH 9 I
TST 7 AT B 1 TR T FAT 82

(A) 32 years/ CL|
(B) 36 years/ a9

(D) 40 years/ CL|



TARGET MATHS- 25/25

Ques 4 -: If the Standard deviation of a distribution is 9, what is the value of
variance?

afe feret feravor st AT forerer 9 2, it foreror w1 a1 = 32

INRE
(B) 27
(C) 81
(D) 36



TARGET MATHS- 25/25

Ques 4 -: If the Standard deviation of a distribution is 9, what is the value of
variance?

afe feret feravor st AT forerer 9 2, it foreror w1 a1 = 32

INRE
(B) 27

(D) 36



TARGET MATHS- 25/25

Ques 5 Two tap A and B fill the tank 1in 15 hours and 20 hours, respectively, while tap C
empty the same tank 1n 25 hours. The three taps are opened together, but after ten hours, tap
C 1s closed. How long will the entire tank be filled from now?

a1 e A 3R B TRl Zohl 31 ShAST: 15 52 3R 20 & H W § STfeh a1 C 36T SRl ki 25 € 1

AT HLdT 2 | AT I TR Wil STTd @ Afeh a9 & o1e 9 C bl sig L [GIT AT | 31T 9

o TA s1Te gl bl W ST 2

(A) After 12 hours
(B) After 10 hours
(C) After 4 hours
(D) After 2 hours



TARGET MATHS- 25/25

Ques 5 Two tap A and B fill the tank 1in 15 hours and 20 hours, respectively, while tap C
empty the same tank 1n 25 hours. The three taps are opened together, but after ten hours, tap
C 1s closed. How long will the entire tank be filled from now?

a1 e A 3R B TRl Zohl 31 ShAST: 15 52 3R 20 & H W § STfeh a1 C 36T SRl ki 25 € 1

AT HLdT 2 | AT I TR Wil STTd @ Afeh a9 & o1e 9 C bl sig L [GIT AT | 31T 9

o TA s1Te gl bl W ST 2

(A) After 12 hours
(B) After 10 hours
(C) After 4 hours



TARGET MATHS- 25/25

Ques 6-: A car can finish a certain journey in 10 hours at the speed of 48 km. per hour. By
how much should its speed be increased so that it may take only 8 hours to cover the same

distance?

Teh 1 48 Tore. /eier sht T1f & foreft AT ot 10 SIS H 90 L Hehell 81 I8eh! 1Tl foelHT s1gT8 SITY
dTfeh St €1 gl I st o forw 3d 8 s &

(A) 10 km. /hr.
(B) 12 km. /hr.
(C) 13 km. /hr.
(D) 14 km. /hr.



TARGET MATHS- 25/25

Ques 6-: A car can finish a certain journey in 10 hours at the speed of 48 km. per hour. By
how much should its speed be increased so that it may take only 8 hours to cover the same

distance?

Teh 1 48 Tore. /eier sht T1f & foreft AT ot 10 SIS H 90 L Hehell 81 I8eh! 1Tl foelHT s1gT8 SITY
dTfeh St €1 gl I st o forw 3d 8 s &

(A) 10 km. /hr.

(C) 13 km. /hr.
(D) 14 km. /hr.



TARGET MATHS- 25/25

Ques 7-: Two times the movement with the stream is equal to 3 times the movement in the
opposite direction of the current. What 1s the proportion of movement in the still water of

the boat and movement with the stream?
ST o | =T o1 &1 T S o ool T4 H <Tet o 3 7 o SIeR & | |19 3hi T Sl § =M

T T 3hT =ITe | ST T 1 2

(A)1:5
(B)5:1
(C)1:3
(D)2:3



TARGET MATHS- 25/25

Ques 7-: Twice the speed with the stream 1s equal to 3 times the speed in the opposite
direction. What 1s the ratio of the speed of the boat in still water to the speed of the current?

ST o | AT 3T &1 AT ST o Torodia o= & =1t o 3 7 o6 SRR & | A1 ol 91 STt § =T
T T 3hT =ITe | ST T 2

(A)1:5

(C)1:3
(D)2:3



TARGET MATHS- 25/25

Ques 8-: If a box contain 3 white cushions, 4 red cushions and 5 blue cushions,
what 1s probability of selecting a white or blue cushions?
IS Teh T H 3 Hha HIM, 4 AT FHIH IR 5 et FIA E,

Teh e T Il S T ohi ITHRIeRaT T &2

INVE
(B) 3/4
(C) 1/4
(D) 1/9



TARGET MATHS- 25/25

Ques 8-: If a box contain 3 white cushions, 4 red cushions and 5 blue cushions,
what 1s probability of selecting a white or blue cushions?
IS Teh T H 3 Hha HIM, 4 AT FHIH IR 5 et FIA E,

Teh e T Il S T ohi ITHRIeRaT T &2

(B) 3/4
(C) 1/4
(D) 1/9



TARGET MATHS- 25/25

Ques 9-: The area of the four walls of a room 1s 168 sq. unit. The area of the base of the

room 1is 48 sq. unit and perimeter of the base is 28 units. Find the height of the room.
U ST ShT TRT AR T &6 168 71 SHTS & | AL o ST T &AHA 48 AT IH[S © 3R
JTIT 3T TRATT 28 ThTS & | ShHL hl HdTS F1d it |

(A) 6 units/3hTg
(B) 8 units/3FTE
(C) 12 units/3HTE
(D) 10 units/3HTE



TARGET MATHS- 25/25

Ques 9-: The area of the four walls of a room 1s 168 sq. unit. The area of the base of the

room 1is 48 sq. unit and perimeter of the base is 28 units. Find the height of the room.
U ST ShT TRT AR T &6 168 71 SHTS & | AL o ST T &AHA 48 AT IH[S © 3R
JTIT 3T TRATT 28 ThTS & | ShHL hl HdTS F1d it |

(B) 8 units/3FTE
(C) 12 units/3HTE
(D) 10 units/3HTE



TARGET MATHS- 25/25

Ques 10-: AB is a chord to a circle and TAP is the tangent to the circle at A. If ZBAT
=75° and £ZBAC = 45°, where C is a point on the circle, then ZABC is:

AB T I i HaT § 3R TAP, A U I sht €497 1@ 21 afg ZBAT = 75° 3R LBAC =
45°, gt C T W e foig 8, A LABC &

(A) 75°
(B) 45°
(C) 60°
(D) 120°



TARGET MATHS- 25/25

Ques 10-: AB is a chord to a circle and TAP is the tangent to the circle at A. If ZBAT

=75° and £ZBAC = 45°, where C is a point on the circle, then ZABC is:
AB T 0 Y ST 2 3R TAP, A UR I <hl €497 1@ 21 af LBAT = 75° 3R LBAC =
45°, FET C 39 W T fg &, I LABC &

(A) 75°
(B) 45°

(D) 120°



TARGET MATHS- 25/25

Ques 11-: If the total cost of 73 articles having total cost is Rs. 5110 and the total
selling price of 89 such articles is Rs. 5607, then in the transaction, there will be -

afq 73 SEGAT T el TN Hed 5110 €. § 3R 380 ThR ht 89 TEGAT T HeA (9567 ek
5607 &. & A T1g | ZIT-

(A) A loss of 15%
(B) A gain of 10%
(C) A loss of 10%
(D) A gain of 15%



TARGET MATHS- 25/25

Ques 11-: If the total cost of 73 articles having total cost is Rs. 5110 and the total
selling price of 89 such articles is Rs. 5607, then in the transaction, there will be -

afq 73 SEGAT T el TN Hed 5110 €. § 3R 380 ThR ht 89 TEGAT T HeA (9567 ek
5607 &. & A T1g | ZIT-

(A) A loss of 15%
(B) A gain of 10%

(D) A gain of 15%



TARGET MATHS- 25/25

Ques 12-:  In a cricket league, 153 matches were played. Every team played one
match with each other. The number of teams participating in the league is

Teh Tshehe ST W, 153 Tl Tel Q| ek S0 Ueh GO oh AT Teh Hel Werd! g1 o1 d Wi
A Tt ST hr ST R

INRE
(B) 16
(C) 17
(D) 18



TARGET MATHS- 25/25

Ques 12-:  In a cricket league, 153 matches were played. Every team played one
match with each other. The number of teams participating in the league is

Teh Tshehe ST W, 153 Tl Tel Q| ek S0 Ueh GO oh AT Teh Hel Werd! g1 o1 d Wi
A Tt ST hr ST R

(A) 15
(B) 16
(C) 17



TARGET MATHS- 25/25

Ques 13-:  In an election between two candidates for the post of secretary, 4% of the
total votes cast are declared to be illegal. One candidate secures 55% of the valid votes
and wins with a majority of 240 votes, find the total number of votes cast

Tia & ug o foTu St SFigart o i< IATa | el STl TC FET AT 4% FAY Fiiva fera
T B Ueh STHIGSIR &0 ST T 55% GIEI SHTdT & 3T 240 ST o SIEH ok T SAerdr
2, Aet Y et T 71 i)

(A) 3500
(B) 2500
(C) 2400
(D) 2200



TARGET MATHS- 25/25

Ques 13-:  In an election between two candidates for the post of secretary, 4% of the
total votes cast are declared to be illegal. One candidate secures 55% of the valid votes
and wins with a majority of 240 votes, find the total number of votes cast

Tia & ug o foTu St SFigart o i< IATa | el STl TC FET AT 4% FAY Fiiva fera
T B Ueh STHIGSIR &0 ST T 55% GIEI SHTdT & 3T 240 ST o SIEH ok T SAerdr
2, Aet Y et T 71 i)

(A) 3500

(C) 2400
(D) 2200



TARGET MATHS- 25/25

Ques 14-: Ram can do a work in 18 days and Shyam can do the same work in 15
days. Shyam worked for 10 days and left work thereafter. In how many days Ram
alone can do the remaining work?

T foret STl <R 18 ToaT W " TehaT § TR 39TH 3T &1 &Rl 15 ot W o’ Tehar 8 | 9T
= 10 o w6l forarm oM acaerma st B foam | T Srehett s gaat st forae famt & o
TehaT g ?

(A) 5 days
(B) 10 days
(C) 6 days
(D) 8 days



TARGET MATHS- 25/25

Ques 14-: Ram can do a work in 18 days and Shyam can do the same work in 15
days. Shyam worked for 10 days and left work thereafter. In how many days Ram
alone can do the remaining work?

T foret STl <R 18 ToaT W " TehaT § TR 39TH 3T &1 &Rl 15 ot W o’ Tehar 8 | 9T
= 10 o w6l forarm oM acaerma st B foam | T Srehett s gaat st forae famt & o
TehaT g ?

(A) 5 days
(B) 10 days

(D) 8 days



TARGET MATHS- 25/25

Ques 15-:  The difference between the SI and CI obtained on a principal amount at 5

p.c.p.a after 2 years 45.What is the principal amount?
2 TN hT TASHATG ST ST ATEMRUT ST ST 3T 5% T X A 35 . T A1 98 A
FIT B2

(A) Rs.18000
(B) Rs.15000
(C) Rs.16000
(D) Rs.14000



TARGET MATHS- 25/25

Ques 15-:  The difference between the SI and CI obtained on a principal amount at 5

p.c.p.a after 2 years 45.What is the principal amount?
2 TN hT TASHATG ST ST ATEMRUT ST ST 3T 5% T X A 35 . T A1 98 A
FIT B2

(A) Rs.18000
(B) Rs.15000
(C) Rs.16000



TARGET MATHS- 25/25

Ques 16-: A circular wire of radius 42 cm. is cut and bent in the form of a rectangle
whose sides are in the ratio of 6:5. The smaller side of the rectangle is-

T 42 BT, o ATl JHTRR a1 1 HIST ATAT § 3R Ueh 37T & &9 | WIS AT §
TRt 9T 6 : 5 U W 21 o1aa T BiEt W1 |

(A) 30 cm.
(B) 60 cm.
(C) 72 cm.
(D) 132 cm.
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Ques 16-: A circular wire of radius 42 cm. is cut and bent in the form of a rectangle
whose sides are in the ratio of 6:5. The smaller side of the rectangle is-

T 42 BT, o ATl JHTRR a1 1 HIST ATAT § 3R Ueh 37T & &9 | WIS AT §
TRt 9T 6 : 5 U W 21 o1aa T BiEt W1 |

(A) 30 cm.

(C) 72 cm.
(D) 132 cm.



TARGET MATHS- 25/25

Ques 17-: The difference between the greatest and the least four digit number that

begins with 3 and ends with 5.

TR 37eh T TTE T S T BT AT H ek 1 hifordr Rreeht yreera o 3 ¥ &
IR IE 5 A TATH T |

INELE
(B) 900
(C) 990
(D) 909



TARGET MATHS- 25/25

Ques 17-: The difference between the greatest and the least four digit number that
begins with 3 and ends with 5.

TR 37eh T TTE T S T BT AT H ek 1 hifordr Rreeht yreera o 3 ¥ &
IR IE 5 A TATH T |

INELE
(B) 900

(D) 909



TARGET MATHS- 25/25

Ques 18-: 21 mango trees, 42 apple trees and 56 orange tree have to be planted in
rows such that each row contains the same number of trees of one variety only.
Maximum number of rows in which the above trees may be planted is-

21 3ATH < UST, 42 AT &k UST AT 56 T ok UST hl UTRHAT H 3 d¥8 1T & foh I
4R # Uk Uk o T TEAT & U BNl W A A ferat ufral & I Ug & <1 geha

22

(A) 7

(B) 13
(C) 15
(D) 17
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Ques 18-: 21 mango trees, 42 apple trees and 56 orange tree have to be planted in
rows such that each row contains the same number of trees of one variety only.
Maximum number of rows in which the above trees may be planted is-

21 3ATH < UST, 42 AT &k UST AT 56 T ok UST hl UTRHAT H 3 d¥8 1T & foh I
4R # Uk Uk o T TEAT & U BNl W A A ferat ufral & I Ug & <1 geha

22

(A) 7
(B) 13
(©) 15



TARGET MATHS- 25/25

Ques 19-: The average age of a family of 6 members is 22 years. If the age of the
youngest member be 7 years the average of the family at the birth of the youngest

member was -

Teh UNETR % 6 TET shl STEd ATY 22 W 3| AT AW BIC TGET hl ATY 7 99 & q1 Ted
DI HEHT o T+ o THT URAR hY 37 1T T 82

(A) 15 years/afﬁf
(B) 17 years/?ﬁ
(OC) 17.5 years/arlslQ
(D) 18 years/d¥
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Ques 19-: The average age of a family of 6 members is 22 years. If the age of the
youngest member be 7 years the average of the family at the birth of the youngest

member was -

Teh UNETR % 6 TET shl STEd ATY 22 W 3| AT AW BIC TGET hl ATY 7 99 & q1 Ted
DI HEHT o T+ o THT URAR hY 37 1T T 82

(A) 15 years/afﬁf
(B) 17 years/?ﬁ
(OC) 17.5 years/aflslQ



TARGET MATHS- 25/25

Ques 20-: A batsman scored 220 runs which included 6 boundaries and 16 sixes.
What percent of his total score, did he make by running between the wickets?

TUeh TeddTST 220 T FHTAT 2 RTEH 6 Tk 3T 16 Tokeh A 2l 38k gIT {orehel & o=
SR TATY 7T T Ik el ThIR oh TehaAT Fferore om?

INYELZ
(B) 50 %
(C) 48 %
(D) 55%



TARGET MATHS- 25/25

Ques 20-: A batsman scored 220 runs which included 6 boundaries and 16 sixes.
What percent of his total score, did he make by running between the wickets?

TUeh TeddTST 220 T FHTAT 2 RTEH 6 Tk 3T 16 Tokeh A 2l 38k gIT {orehel & o=
SR TATY 7T T Ik el ThIR oh TehaAT Fferore om?

(B) 50 %
(C) 48 %
(D) 55%



TARGET MATHS- 25/25

Ques 21-: P and Q invest in the ratio 3 : 5. After 6 months, R joins the business
investing an amount equal to Q's. At the end of the year what will be the ratio of their

profits?
P 3R Q SHUTT: 3 : 5 TTUTA | (A &hd & | 6 AT TG, R SATIR H Q o T AT
ST X ST 1 STTaT § | 99 ok 3id W 3ok ST § 9T STUTd SR

(A) 6:10: 5
(B)3:5:2
(C) 8:10: 5
(D) 3:5:5
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